
SAP ABAP table VWKMKO {Corporate actions (header)}

VWKMKO

MANDT [CLNT (3)]

KMNR [CHAR (13)]

KMART [NUMC (2)]

BEWART1 [CHAR (4)]

BEWART2 [CHAR (4)]

BEWART3 [CHAR (4)]

BEWART4 [CHAR (4)]

BEWART5 [CHAR (4)]

BEWART6 [CHAR (4)]

BEWART7 [CHAR (4)]

BEWART8 [CHAR (4)]

BEWART9 [CHAR (4)]

BEWART10 [CHAR (4)]

BEWART11 [CHAR (4)]

BEWART12 [CHAR (4)]

BEWART13 [CHAR (4)]

BEWART14 [CHAR (4)]

BEWART15 [CHAR (4)]

BEWART16 [CHAR (4)]

KURST [CHAR (4)]

T000

MANDT [CLNT (3)]

 VWKMKO-MANDT = T000-MANDT 

0..N

0..N

TCURV

MANDT [CLNT (3)]

KURST [CHAR (4)]

 VWKMKO-KURST = TCURV-KURST 

0..N

0..N

TZB0A

MANDT [CLNT (3)]

RANTYP [CHAR (1)]

SBEWART [CHAR (4)]

 VWKMKO-BEWART1 = TZB0A-SBEWART 

0..N

0..N

 VWKMKO-BEWART10 = TZB0A-SBEWART 

0..N

0..N  VWKMKO-BEWART11 = TZB0A-SBEWART 

0..N

0..N  VWKMKO-BEWART12 = TZB0A-SBEWART 

0..N

0..N  VWKMKO-BEWART13 = TZB0A-SBEWART 

0..N

0..N
 VWKMKO-BEWART14 = TZB0A-SBEWART 

0..N
0..N

 VWKMKO-BEWART15 = TZB0A-SBEWART 

0..N0..N  VWKMKO-BEWART16 = TZB0A-SBEWART 

0..N
0..N

 VWKMKO-BEWART2 = TZB0A-SBEWART 
0..N0..N

 VWKMKO-BEWART3 = TZB0A-SBEWART 0..N0..N

 VWKMKO-BEWART4 = TZB0A-SBEWART 
0..N

0..N

 VWKMKO-BEWART5 = TZB0A-SBEWART 

0..N

0..N

 VWKMKO-BEWART6 = TZB0A-SBEWART 

0..N

0..N

 VWKMKO-BEWART7 = TZB0A-SBEWART 

0..N

0..N

 VWKMKO-BEWART8 = TZB0A-SBEWART 

0..N

0..N

 VWKMKO-BEWART9 = TZB0A-SBEWART 

0..N

0..N

TZBKM

MANDT [CLNT (3)]

KMART [NUMC (2)]

 VWKMKO-KMART = TZBKM-KMART 

0..N

0..N


